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A —EXFIFESRE 7 BEFR~ 8 BFfE
(1 Z&3BDBEE] (1HHED)

_ TTEERIR )
BITEE RE ast
Bcaigs
ENiE 1l 645 M 1,295 H
EI3E 2 761 M 1,411 H
ENE3 883 M 650 M 1,533 H
ENE4 1,003 M 1,653 H
ENES 1,124 H 1,774 H

Zz D i
ABIE (18) =50 [
fERHEENERMEL (18) =56M

AErEAEm EEENE (1 H) =100 F
B —EXEMAHRREMNE L (1)
(1H) =18H
MERELESREMELD (14)
= (BEKREA+NNEEAI) x5.9%

FTAY—EXFIFEISRE 7 BER~ 8 BFfE
(2 ZI&iBEDBEE] (1BHED)

- NEERIR ]

B EE B ast
Bo&Es

EZME 1l 1,290 M 1,940 M
EE2 1,522 H 2,172 1
EME3 1,766 M 650 1 2,416
EME4 2,006 4 2,656 4
E1ES 2,248 H 2,898 H

Z D i
ABIE (18) =50 M
fERHEENFRMEL (18) =56M

AEEAEm EEENE (1 8) =100 F
B —ERE#ARRREIE 1 (1)
(1H) =18H
TEMELLESREMET (1/7)
= (BREfI+NEE(I) x5.9%

A —EXFIFEISRE 7R~ 8 BFfE
(3 F&aiBnizESE] (183H72D)

B NERIR ]

B EE B ast
Bo&iEs

EZME 1l 1,935 H 2,585 H
ENE?2 2,283 H 2,933 H
EME3 2,649 H 650 M 3,299 H
ENE4 3,009 H 3,659 M
ENES 3,372 H 4,022 1

Zz D i
ABIE (18) =50 M
fERHEENFRMEL (18) =56M

AErEvEEER _ DEENE (1 /) =100 M
H—ERE#ARRREIE 1 (1)
(1H) =18H
MERMELESNENET (14)
= (BREI+NEE(I) x5.9%
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(1 Z&IBDEE])
T EERIR H— IR
ENEE BE - rOK !
HoaiEs BAENE T (1)
_ EHgsteEm ENE (1 B) =225H
ERIE1L 1,647 M 72 H
AEEEE EEENNE (1 A) =100H
1,689 [ SXEFEHMENE (18) =120H
650 M 72 H ) ~
3 (B 11EE) NERENENENEI (18)
BEXIR2 o s
3,377 H = (BEXRBAI+INEEAI) x5.9%
144 H
(GE 2 12E)
(2 ZI&EDBEE]
T EERR H— IR A
BENEE BrE B oK
Ho&iEs BALINE T (1)
_ EFFstkEEm tNE (1 B) =225
BERIE1L 3,294 M 144 M
ASErkReD EEENNE(1 A) =100HM
3,378 M SXEFEHMENE (18) =120H
650 M 144 | . R e
3 (A 1 12E) NEMELENENEI (18)
BEXig?2 o
6,754 { = (BERENAI+INEEAL) x5.9%
288 M
(GE 2 12E)
(3 EI&IBDFE]
TTEERR H— IR
ENEE BE n r oK
Ho&iEs BALINE T (1)
3 EHZsteEm ENE (1 B) =225H
BEFIE1L 4,941 M 216 M -
ASErkeeD FEENNE(1 A) =100
5,067 M SEEMMEMNE (18) =120H
650 M 216 1 | \ .
3 (A 1 12E) NEMEVLBNEMNET (18)
BERiR2 o
10,131 M = (BEAXRBNI+HIEEAI) x5.9%
432 H
(A 2 12E)




